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Part A:  Proportionality 
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Figure 1:4.1
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Figure 2:Vo FOR A Vin SWAAP FROM 0 to 15
Part B:Superposition 
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Figure 3:4.2
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Figure 4:4.3
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Figure 5:4.4
Part C: Thevenin’sTheorem
[image: ]
Figure 6:4.5

Voltage around the resistor 330 = 2.357volt 
Current around the resistor 330=7.143mA


· Find the Thevenin equivalent 
· To Find Vth using voltage divider



· To Find Rth  killing DC voltage source 
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Figure 7:4.7
Voltage around the resistor 330 = 2.357volt
Current around the resistor 330 = 7.142mA
Patr D: ∆-Y Transformation
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We note that Ra=Rc=Rb=1K so R1=R2=R3=333.333ohm
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Figure 8:Y transformation
the voltage Vab=0.493volt && the current  I=12.80mA
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Figure 9: ∆ transformation






Part E:Reciprocity Theorem
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Figure 10:4.8
the current I=2.910mA
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Figure 11:4.9

the current I=2.910mA
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